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Diepoldsau — Rhein
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Bruegg Aegerten — Aare

MQ = 248.7 m3/s
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Konstanz — Bodensee

MQ = 324.5 m3/s
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Mellingen — Reuss

MQ = 137.1 m3/s
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+44

NQ = 152.1 m3/s

44

-3.1 5

HQ = 846.5 m3/s

—=0.59

—-0.47




Relative Change (%)

100 150 200 250

50

Rekingen — Rhein
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Basel — Rhein
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Riegel - Elz
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Schwaibach - Kinzig
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Strasbourg—Cha-Fro — |lI
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Bad Rotenfels — Murg
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Maxau — Rhein

MQ = 1263.1 m3/s
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Rockenau — Neckar
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Worms - Rhein

MQ = 1460.0 m3/s
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Raunheim - Main

MQ = 257.6 m3/s
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Mainz — Rhein

MQ = 1730.3 m3/s
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Kaub — Rhein
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Kalkofen — Lahn

MQ =56.4 m3/s
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Cochem - Mosel

MQ = 367.9 m3/s
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Andernach - Rhein

MQ = 2225.6 m3/s
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Menden - Sieg
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Koeln — Rhein
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Duesseldorf — Rhein

MQ = 2348.6 m3/s
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Hattingen — Ruhr
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Lobith — Rhein
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